

054

$g'(x)$ $x \in]0, +\infty[$: $g(x) = x - 2 \ln x$ (I) (1)

$[2, +\infty[$ $]0, 2]$ g (2)

$g(2) > 0$ $\forall x > 0$: $g(x) > 0$ (3)

$f(x) = x - (\ln x)^2$ (II)

(2008 / 2007) $\lim_{x \rightarrow 0^+} f(x)$ (1)

$\lim_{x \rightarrow +\infty} \frac{f(x)}{x} = 1$ $\lim_{x \rightarrow +\infty} f(x) = +\infty$ $\lim_{x \rightarrow +\infty} \frac{(\ln x)^2}{x} = 0$ (2)

(Δ) C_f $\Delta: y = x$ C_f (3)

$f'(x) = \frac{g(x)}{x}$ (3)

$(\ln 2)^2 < \frac{1}{2}$: $\frac{1}{e} < \alpha < \frac{1}{2}$ \mathbb{R}^{+*} α $f(x) = 0$ (4)

$I(e, e-1)$ (Δ) C_f (5)

055

(2005 / 2004)

$x > 0$ $h(x) = x + (x-2) \ln x$ $g(x) = x - 1 - \ln x$: _____

g $]0; +\infty[$ x $g'(x)$ (1)

$]0; +\infty[$ x $g(x) \geq 0$ (2)

$]0; +\infty[$ x $h(x) = 1 + g(x) + (x-1) \ln x$: (2)

$]0; +\infty[$ x $(x-1) \ln x \geq 0$: (3)

$]0; +\infty[$ x $h(x) > 0$: (3)

$x \in]0; +\infty[$ $f(x) = 1 + x \ln x - (\ln x)^2$: _____

$\lim_{x \rightarrow +\infty} f(x)$ $\lim_{x \rightarrow 0^+} f(x)$ (1)

$f(x) = 1 + x \ln x (1 - \frac{\ln x}{x})$ $+\infty$ C_f (2)

\mathbb{R}^{+*} f $\forall x > 0$: $f'(x) = \frac{h(x)}{x}$: (2)

$A(1; 1)$ C_f (Δ) $y = x$ (3)

$]0; +\infty[$ x $f(x) - x = (\ln x - 1)g(x)$ (4)

(Δ) C_f $f(x) - x$ (4)

$(1, 5 \quad 1 \quad C_f)$ (Δ) C_f (4)

\mathbb{N} n $u_{n+1} = f(u_n)$ $u_0 = \sqrt{e}$: (u_n) : _____

\mathbb{N} n $1 < u_n < e$: (1)

(3) (u_n) (2)

(u_n) (3)

056

(2005 / 2004) $x \in]0; 2[$: $f(x) = \ln(\frac{x}{2-x})$

$\lim_{x \rightarrow 2^-} f(x)$ $\lim_{x \rightarrow 0^+} f(x)$ (1)

f $]0; 2[$ x $f'(x) = \frac{2}{x(2-x)}$ (2)

A C_f (T) C_f $A(1, 0)$ (2)

$(\ln 7 \approx 1,94 \quad \ln 3 \approx 1,1)$ $\varphi(x) = f(x) - x$ (3)

$1,5 < \alpha < 1,75$: α $f(x) = x$

f^{-1} (C_f) f (4)

052

$\ln 3 \quad \ln 2$ $A = \ln(3\sqrt{3}) + \ln(81) + \ln(12\sqrt[3]{3})$ (1)

$f(x) = \ln(\frac{x}{x+1})$ $A(-\frac{1}{2}, 0)$ (2)

$I_1: \ln(5-x) + \ln(1-x) > 2 \ln(x+1)$: \mathbb{R} (3)

$I_2: \ln(3x+2) < 0$: \mathbb{R} (4)

$\ell(x) = \sqrt{2 - (\ln x)^2}$ $b(x) = \sqrt{(x-1) \ln x}$ $a(x) = \frac{x}{\ln x}$: (5)

$d(x) = \frac{x^3}{x^4 + 2}$ $c(x) = \frac{1}{x \ln x}$: (6)

بالتوفيق $B = \log_2(\frac{1}{5}) + \log_2(10) + \log_{\frac{1}{3}}(\sqrt[3]{3})$ (7)

$C = \log(250000) + \log(\sqrt{250}) - \log(125)$ (8)

$D = \log(2 + \sqrt{3}) + \log(2 - \sqrt{3}) - \log(4) + \log(2) \log(100)$ (9)

$E_1: \log_3(2x-1) + \log_3(x) = 1$: \mathbb{R} (10)

$I_3: (\ln x)^2 + 5 \ln x - 6 \leq 0$: \mathbb{R} (11)

$n \geq 1$ $V_n = \frac{1 + \ln(U_n)}{2}$ $U_1 = e^2$ $U_{n+1} = \sqrt{\frac{U_n}{e}}$: (12)

$(V_n)_n$

$E_2: (0, 5) \ln(x-1) + \ln(\sqrt{x+2}) = \ln 2$: \mathbb{R} (13)

$h(x) = \frac{\cos x}{\sin x}$ $g(x) = \tan x$ $e(x) = \frac{4x+3}{2x^2+3x-1}$: (14)

2,6 % 81000 162000 (15)

$v_0 = 25$ 0,2 $(v_n)_n$ (16)

$u_n = \log_5(v_n)$

$C = \lim_{0^+} x(\ln x)^4$; $B = \lim_{+\infty} \frac{(\ln x)^3}{x^8}$; $A = \lim_{+\infty} \frac{(\ln x)^7}{x^4}$: (17)

$F = \lim_{(-1)^+} \ln(\frac{3-x}{x+1})$; $E = \lim_{-\infty} (x + \ln(x^2 + 1))$; $D = \lim_{+\infty} \frac{x-3 \ln x}{2x - \ln x}$

$I = \lim_{x \rightarrow 0} \frac{\ln(1+x-x^2)}{x}$; $H = \lim_{x \rightarrow +\infty} \frac{\ln(x-1)}{\sqrt[5]{x}}$; $G = \lim_{x \rightarrow +\infty} x \ln(1 + \frac{1}{x})$

053

$f(0) = 0$ $f(x) = x(\ln x)^2 - 4x \ln x + \frac{19}{4}x$; $x > 0$

$f(e^{\frac{3}{2}}) = e^{\frac{3}{2}}$ $f(\sqrt{e}) = 3\sqrt{e}$ $f(e)$ $f(1)$ (1)

(09 / 08) \mathbb{R} f $\lim_{x \rightarrow 0^+} x(\ln x)^2$ (2)

0 f (3)

$+\infty$ (C_f) $\lim_{x \rightarrow +\infty} f(x)$ (4)

$f'(x) = 0,25(2 \ln x - 1) \cdot (2 \ln x - 3)$: (5)

$3\sqrt{e} \approx 5$ $e^{\frac{3}{2}} \approx 4,5$ $\sqrt{e} \approx 1,7$: (C_f) (6)

J g $I = [e^{-0,5}, e]$ f $g(7)$

$(g^{-1})'(\frac{7e}{4})$ g^{-1}

(2003 / 2002) . $f(x) = \begin{cases} \ln(1-x^3) & x < 0 \\ 4x\sqrt{x} - 3x^2 & x \geq 0 \end{cases}$ 060

. $(\lim_{t \rightarrow 0} \frac{\ln(1+t)}{t} = 1 :) 0$ f (1)

. $[0,1]$ $[1, +\infty[] -\infty, 0[$ f (2)

. $\lim_{x \rightarrow +\infty} f(x) \lim_{x \rightarrow -\infty} f(x)$ (3)

بالتوفيق . $\forall x < 0 : \frac{f(x)}{x} = 3 \frac{\ln(-x)}{x} + \frac{\ln(1-x^3)}{x} :$ (

. (C_f) (

J h . $]-\infty, 0[$ f h (4

. $x \in J, h^{-1}(x)$

$\forall n \in \mathbb{N} : \frac{4}{9} \leq u_n \leq 1$. $u_0 = \frac{4}{9}$ $u_{n+1} = 4u_n\sqrt{u_n} - 3u_n^2$ (5

. (u_n) (

(2007 2006) 061

. $x \in]0, +\infty[$ $g(x) = x - \frac{1}{x} - 2 \ln x$ (I

. $]0, +\infty[$ g $g'(x) = \frac{(x-1)^2}{x^2}$ (1

$g(1) = 0 \forall x \in [1, +\infty[: g(x) \geq 0 \quad \forall x \in]0, 1]: g(x) \leq 0$ (2

. $x \in]0, +\infty[$ $f(x) = x + \frac{1}{x} - (\ln x)^2 - 2$ (II

. $\lim_{x \rightarrow +\infty} f(x)$ ($t = \sqrt{x}$) $\lim_{x \rightarrow +\infty} \frac{(\ln x)^2}{x} = 0$ (1

. $]0, +\infty[$ x $f(1/x) = f(x)$ (

. ($t = 1/x$) $\lim_{x \rightarrow 0^+} f(x)$ (

. $y = x$ C_f (

. C_f f $\forall x > 0 : f'(x) = \frac{g(x)}{x}$ (2

. $]0, +\infty[$ $\ln x$ $G(x) = x \ln x - x$ (3

(2003 / 2002) 062

. $x \in \mathbb{R}^+ : f(x) = x - 2\sqrt{x} + 2 :$ _____

. 0^+ f $\lim_{x \rightarrow +\infty} f(x) = +\infty$ (1

. $[1, +\infty[$ $[0, 1]$ f (2

. $u_0 = 2$ $u_{n+1} = f(u_n) :$ (u_n) _____

. \mathbb{N} n $1 \leq u_n \leq 2 :$ (1

. (u_n) (2

. $g(x) = \ln(x - 2\sqrt{x} + 2) :$ \mathbb{R}^+ _____

. (C_g) $\lim_{x \rightarrow +\infty} g(x)$ (1

. (C_g) ($\lim_{x \rightarrow 0^+} (\frac{g(x) - g(0)}{x}) = -\infty$) g (2

J h . $[1, +\infty[$ g h (3

. $x \in J, h^{-1}(x)$

2006 / 2005 057

. $g(x) = \ln(1+x) - x :$ $[0, +\infty[$ g (I

. $[0, +\infty[$ g $g'(x)$ (1

. $[0, +\infty[$ x $g(x) \leq 0 :$ (

. $]0, +\infty[$ x $0 < \ln(1+x) < x :$ (2

. $f(x) = x + \ln(\frac{x+1}{x-1}) :$ (II

. f $D =]-\infty, -1[\cup]1, +\infty[$ f (1

. $\lim_{x \rightarrow 1^+} f(x) \lim_{x \rightarrow +\infty} f(x)$ (2

. $]1, +\infty[$ f $\forall x \in D : f'(x) = \frac{x^2 - 3}{x^2 - 1}$ (3

. C_f $(\Delta) : y = x$ (4

($\forall x \in D \frac{x+1}{x-1} = 1 + \frac{2}{x-1}$) $\ln(\frac{x+1}{x-1})$ (

. (Δ) C_f (

. $f(\sqrt{3}) \approx 3 \quad \sqrt{3} \approx 1,7 :$ 1 cm C_f (5

. $\mathbb{N}^* \setminus \{1\}$ n $u_n = f(n) - n :$ $(u_n)_{n \geq 2}$ (III

. $(u_n)_n$ $\mathbb{N}^* \setminus \{1\}$ n $u_n = \ln(1 + \frac{2}{n-1})$ (1

$\lim_{n \rightarrow +\infty} u_n$ ((2 (I) $\forall n \in \mathbb{N}^* \setminus \{1\} : 0 < u_n < \frac{2}{n-1}$: (2

(2004 / 2003) 058

. $f(x) = \ln(x^2 - 2x + 2)$

. $\lim_{-\infty} f(x) \lim_{+\infty} f(x) :$ $D_f = \mathbb{R}$ (1

. C_f $x = 1$ (2

. $[1, +\infty[$ x $f(x) = 2 \ln(x) + \ln(1 - \frac{2}{x} + \frac{2}{x^2}) :$ (3

. $\lim_{x \rightarrow +\infty} (f(x)/x) = 0 :$ (

. \mathbb{R} x $f'(x) = \frac{2(x-1)}{(x-1)^2 + 1} :$ (4

. C_f C_f $f''(x) = \frac{2x(2-x)}{[(x-1)^2 + 1]^2} :$ (5

. $h^{-1}(x)$ h $[1, +\infty[$ f h (6

(1993/1994) 059

$g(x) = \frac{-2}{x+2} + \ln(\frac{x+2}{x}) :$ $]0, +\infty[$ g (A

$g(x) \lim_{x \rightarrow +\infty} g(x) \quad g'(x) = -4 \cdot [x(x+2)^2]^{-1} :$

. $f(0) = 0$ $f(x) = x \cdot \ln(\frac{x+2}{x}) :$ \mathbb{R}^+ f (B

. 0^+ 0^+ f (1

. ($X = 2/x$) $\lim_{x \rightarrow +\infty} f(x) = 2 :$ (2

. f $\forall x > 0 : f'(x) = g(x) :$ (3

. 2 cm (O, \vec{i}, \vec{j}) C_f C_f (4